What is the distance from the point (21,-3) to the line containing the points (5,9) and (6,2)?��(A)  24	(B)  � EMBED Equation.2  ���	(C)  27	(D)  28	(E)  NOTA


To attend a math contest, a team must pay a fixed registration fee.  If there were four more members on the team, the price per member would have been six dollars less.  On the other hand, had there been six fewer members on the team, the price per member would have been 14 dollars more.  How many members did the team have?��(A)  20	(B)  22	(C)  24	(D)  28	(E)  NOTA


What is the equation of the line with slope -3 and through the point (4,-3)?��(A) � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	�(D) � EMBED Equation.2  ���		(E)  NOTA


On Jan’s ranch there are both cattle and people.  In a certain pasture, you can see 48 heads and 136 feet.  How many cattle are there in the pasture?��(A)  19	(B)  20	(C)  21	(D)  22	(E)  NOTA


What is the value of z in the solution of � EMBED Equation.2  ���, � EMBED Equation.2  ���, and � EMBED Equation.2  ���?��(A)  0	(B)  1	(C)  2	(D)  3	(E)  NOTA


What is the greatest prime number less than 247?��(A)  237	(B)  239	(C)  241	(D)  243	(E)  NOTA


What is the sum of the greatest common factor and least common multiple of 24, 36, 120?��(A)  354	(B)  372	(C)  388	(D)  420	(E)  NOTA


For what value(s) of x does � EMBED Equation.2  ���?��(A) � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


What is the product of the roots of� EMBED Equation.2  ���?��(A)  7	(B)  4	(C) � EMBED Equation.2  ���	(D)  -7	(E)  NOTA


What is the sum of the roots of� EMBED Equation.2  ���?��(A) � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


For what real values of k does � EMBED Equation.2  ��� have at least one real root?��(A)  � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA


Simplify:  � EMBED Equation.2  �����(A) � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C)   � EMBED Equation.2  ����(D) � EMBED Equation.2  ���	(E)  NOTA


� EMBED Equation.2  ��� and� EMBED Equation.2  ���.  Find the sum of f(3) and f(6).��(A)  � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C) 48	(D)  40	(E)  NOTA


Ann has a picture on 8½ by 11 paper that she has framed in a frame which is a quarter inch thick on each side.  What is the area of the frame, in square centimeters?��(A)  9	(B)  9.75	(C)  10	(D)  10.25	(E)  NOTA


Factor completely over the real numbers:  � EMBED Equation.2  �����(A) � EMBED Equation.2  ���	(B) � EMBED Equation.2  ����(C) � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA


Solve for x:  � EMBED Equation.2  �����(A)  9 or 6	(B)  � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D)  9 or 2	(E)  NOTA


Solve for b in terms of the other variables:  � EMBED Equation.2  �����(A) � EMBED Equation.2  ���		(B) � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ����(D)  � EMBED Equation.2  ���	(E)  NOTA


� EMBED Equation.2  ���.  Evaluate � EMBED Equation.2  �����(A)  76	(B)  78	(C)  84	(D)  92	(E)  NOTA


Tony is five years older than Mike, and in three years his age will be four-thirds of JJ’s age.  Four years ago, seven times Mike’s age equaled 8 times JJ’s age.  How old is Tony?��(A)  13	(B)  17	(C)  21	(D)  25	(E)  NOTA


Moe can ride up an escalator in 40 seconds.  If Moe walks up the escalator, it takes him only 30 seconds to make the ascent.  If the escalator were broken, how many seconds would it take Moe to walk to the top?��(A)  80	(B)  60	(C)  120	(D)  240	(E)  NOTA


In a biathlon, participants swim for 4 km and run for 8 km.  Tom completed the biathlon in 12 hours.  If he had swum at his running rate and run at his swimming rate, he’d have finished in 16 hours.  What was Tom’s running rate in kmph?��(A) � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C)  1	(D) � EMBED Equation.2  ���	(E)  NOTA


A man has 27,000 dollars to invest, and does so by splitting his money between two stocks, one which yields 4.5% a year and another which yields 5.5% a year.  If he makes $1325 dollars in the first year, how much money did he invest at 5.5%?��(A)  5750	(B)  8500	(C)  9000	(D)  12500	(E)  NOTA


Two numbers sum to 847 and differ by 214.  What is the larger of the two numbers?��(A)  529	(B)  530	(C)  317	(D)  532	(E)  NOTA


Faiza brings donuts to work, and Tom immediately eats a third of them, plus two-thirds of a donut.  Satish then eats a fourth of the remaining donuts, plus one-half of a donut.  Dan then eats half of the remaining donuts, plus one-half of a donut.  By the time Joy arrives, there are only three donuts left for her.  How many donuts were there originally?��(A)  13	(B)  16	(C)  19	(D)  22	(E)  NOTA


Lori is six years older than Karen, and in two years will be twice Karen’s age three years ago.  How old is Karen now?��(A)  12	(B)  14	(C)  17	(D)  18	(E)  NOTA


Dan has 39 coins totaling $5.00.  If he has only nickels, dimes, and quarters, the number of nickels is 9 less than twice the number of quarters, and the number of dimes is 25 less than the number of nickels, how many dimes does Dan have?��(A)  10	(B)  7	(C)  9	(D)  8	(E)  NOTA


Ann is to dilute 4 liters of a 30% solution of Potassium Benzoate to a 25% solution using a 10% solution.  What will be the total volume of the 25% solution, if she does it correctly?��(A)  5	(B) � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA


A snake’s tail comprises one third of its length, its neck is 2 feet longer than its tail, and its total length is 5 feet longer than its tail.  What is the total length of the snake?��(A) � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C)  9	(D)  11	(E)  NOTA


Adam rides his bike to work in the morning at 30 km/hr, as he figures the earlier he gets to work, the earlier he gets to leave.  When he leaves work, he’s so happy that he takes the scenic route home (twice the length of his ride to work) and travels at only 25 km per hour.  What is his average speed for the round trip?��(A) � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


If three and a half chickens lay one and a half eggs in two and a half days, how many chickens would it take to lay 4 eggs in 4 days?��(A) � EMBED Equation.2  ���	(B)  6	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA
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